== A
N = 0] &F AF S & AN A
20208 = 20l A LEHSH S X &2
SA: 2X™ 2
E: =SUMH 25
Sl XISAS =X CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
S XA 2 30,839,846 28,997,880 841,966
= 16,357,751
Jl 6,300
Al HI 11,569,794
Tl 2,906,001
Sy 23 8,017,027 6,600,800 1,416,227
= 1,950,350
Al HI 5,037,914
Tyl 1,028,763
XNEAls SX#EH 5,515,287 5,111,800 403,487
= 322,080
Al Hl 4,588,679
=1 604,528
Al 22X 2 29 3,287,178 2,894,100 393,078
Al HI 2,994 220
24| 292,958
307 QI2t0| ™ 3,287,178 2,894,100 393,078
Al Hl 2,994 220
24| 292,958
05 QIZtREZ 3,287,178 2,894,100 393,078
OAMZIEX& 29 X 3,276,578,000& 3,276,578
Al HI 2,994,220
T 282,358
OFs=EXS M)lg BX 3,600,000& 3,600
OSFAUAMUOIIIE REa=s=2AMY X
7,000,000 7,000
SN LA 44 638 45,922 N 1,284
201 2Et24A Y| 16,780 16,780 0
01 AP 2t 2] H| 16,420 16,420 0
OXG A B&HE A HZE 10,0008 x100H 1,000
OAMGt2=S X &M AStESA S M2
20,0002 *300H *90% 540
OXNEMIIBEEHESEAM FSE M2
9,000& %1208 1,080
OX<E=2X 2 - 28 2483 24
1,800,000 1,800
Oglu=x el 12,000,000& 12,000
02 2=2=2494| 360 360 0
OMHPRSSA SESHEBANAE EHHUY) 2
A 30,000 x12& 360
203 € R =& 24,690 24,390 300
03 AIEH =X 2 F XY 24,690 24,390 300
EXEdE=2 g2FX 3,000,000& 3,000
BEHUHHE /A= g4 19,800,000 19,800
OAZIE2X 42X 1,170,000 1,170

_1_




2AH: SRS
E: =SUMH 25
ol XIALE =X HE =
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OY2 A MHIA 2AHT 2E 3 720,000& 720
301 LA S 3,168 4,752 A 1,584
0B M ERRIABAS 3,168 4,752 A 1,584
OSXNEHY AMIS2RE SAH
6,000 «2H x222 <123 3,168
SHE=EXHEH A ERREI S4ld 24,122 24,122 0
AlHI 11,450
L Hl 12,672
301 LPEXZ 24,122 24,122 0
AlHI 11,450
L Hl 12,672
0B M ERRIABHS 24,122 24,122 0
OSHF=SXNHE ASSR22A A
24,122,000 24,122
AlH 11,450
1 Hl 12,672
M ZXAIE M= SAH| 34,056 34,056 0
AlHI 14,256
T Hl 19,800
301 LEAZ 34,056 34,056
AlHI 14,256
T Hl 19,800
0B M ERRIABHS 34,056 34,056
OMEISIIAE ASIS223 SA4ll
34,056,000& 34,056
AlHI 14,256
L Hl 19,800
M E2R2HE K& 228,000 228,000
= 228,000
301 LEEMZ 228,000 228,000
= 228,000
0B A =RRAB LS 228,000 228,000
OAI=2HE K& 228,000
A2z, wEdl, =4l 228,000,000 228,000
= 228,000
HEE NIGAEEHE =8 & EIt 2,000 2,000
201 Let249] 2,000 2,000
01 At 22l 2,000 2,000 0
O E NSMEHHE =8 L Bt EE
3 2,000,000 2,000
2=l 29 14,500 14,000 500
201 Let24d] 14,500 14,000 500
02 232gHl 14,500 14,000 500
— 2 —




SN SXYBD

M =R 2l
&2 XNFAE SXHF (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OEs3at 3323 8,000,000& 8,000
O&ssl2 RAE==22| 5,000,000& 5,000
OEsEsl& A2YAd 32 1,500, 000& 1,500
HER3A XE 1,445,000 1,426,700 18,300
AlHI 1,428,000
4l 17,000
301 LBEXS 1,445,000 1,426,700 18,300
AlHI 1,428,000
T Hl 17,000
01 MEIBEE 2063 1,445,000 1,426,700 18,300
HERISA El=& 1,428,000, 000& 1,428,000
Al 1,428,000
OFHEREA ALRZ2S 17,000, 000& 17,000
=gsa4 NE 9,000 8,000 1,000
301 LEHZ 9,000 8,000 1,000
01 MEI2EZE 5= 9,000 8,000 1,000
OSERIA R Ad32 45 «100,000& 23] 9,000
IS N 104,400 0 104,400
AlHI 104,400
301 LEXS 104,400 0 104,400
AlHI 104,400
01 MEIBEE 2053 104,400 0 104,400
ORI B+ 104,400,000 104,400
Al 104,400
A EHH 23 XI& 132,800 129,500 3,300
307 21201 A 132,800 129,500 3,300
02 B AAFEX 98,100 96,100 2,000
OstH &sHl XA 84,400,000 84,400
OAMalEtH sdgs X 13,700
MBS XA G235t 2,500,000& 2,500
FAEXECEoAs dEES
1674 = +700,000& 11,200
03 BIAHMNHE2IHIEE 34,700 33,400 1,300
Ot 29Hl XA 34,700,000& 34,700
HASS &M W=sH o8 N 16,193 0 16,193
AlHI 16,193
101 @124 dl 16,193 0 16,193
AlHI 16,193
4 D12t Z2XEES 16,193 0 16,193
OMASESHNSH NEA AL 16,193,000& 16,193
Al 16,193
NAMBEHEAM ME= 23 18,000 0 18,000




2N

g =NEM 23
ool XA =XHE
(o
SN EHD B (3H) - MEAY - BAS %Eﬁ
307 2Iz2to| & 18,000 0
10 MM SXAANEEHESIGHEX 18,000 0
OXNEAMIIBEEHESEAM AIR=2 9o |
18,000,000 18,000
XNBASEEESEAM 25 XS 16,000 16,000
201 et d| 16,000 16,000
01 AFR 2t 2| H| 16,000 16,000
Os NEAMIBHEAN 24 N
16,000,000& 16,000
UEY SSMEHIA XN (S At 22IA S X&) 134,400 134,400
= 94,080
Al HI 20,160
Tl 20,160
201 et 46,900 46,900
= 32,830
Al HI 7,035
24| 7,035
01 AFR 2t 2| bl 46,900 46,900
O U=5 SSMHIAXNL (S S At 22 A
A 2HH|) 46,900,000 46,900
= 32,830
Al HI 7,035
Tyl 7,035
301 et M= 87,500 87,500
= 61,250
Al HI 13,125
24| 13,125
01 Al E& A 252 87,500 87,500
O U=5 SSMUIAXNL (S S AtAI 22 A
A CHARE XI€H|) 87,500,000 87,500
= 61,250
Al HI 13,125
Tl 13,125
ST AR &2 2 ol 5,000 5,000
201 et 5,000 5,000
01 AP 2t 2] d| 5,000 5,000
OZ2XNAMIANN &2 2Hd EE2=25 ¥ L& 2
A H| 5,000,000 5,000
XA Lsxz=& ,501,740 1,489,000
= ,628,270
Al HI 449,235
24| 424 235
213 Xl X & ,393,000 1,393,000
= , 114,400
Al HI 139,300




2N
X ZH -
L= B

el

EPARSE )
SANEH 23

XS Ate Ls=a

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-t 139,300
301 LEXZ 1,393,000 1,393,000 0
= 1,114,400
AlHI 139,300
T Hl 139,300
01 MEI2EZE+05l= 1,393,000 1,393,000 0
Ooz2g =XXA 1,393,000, 000& 1,393,000
= 1,114,400
Al 139,300
Tl 139,300
=&Y 29 31,000 31,000 0
Al 3,000
I 28,000
307 21201 A 31,000 31,000 0
Al 3,000
I 28,000
11T M3 SRASEEX 31,000 31,000 0
OJIzztY3 29 XA 31,000,000& 31,000
AlHI 3,000
T Hl 28,000
JI=ZE0 24 50,000 50,000 0
AlHI 50,000
307 gl2tol & 50,000 50,000 0
Al 50,000
05 BIZHRI & 3 50,000 50,000 0
OJI=ZE0t2 299 50,000,000& 50,000
Al 50,000
- SEAtdl2el X 15,000 15,000 0
= 7,500
AlHI 3,750
4l 3,750
201 L2l 7,500 10,000 A2,500
= 3,750
AlHI 1,875
L Hl 1,875
01 At 22l 7,500 10,000 A 2,500
O7 sSgAtdiztel X (At 2elame 224()
7,500,000& 7,500
= 3,750
Al HI 1,875
1 Hl 1,875
301 LEAZ 7,500 5,000 2,500
= 3,750
AlHI 1,875
T Hl 1,875
01 MEIBEE 253 7,500 5,000 2,500




2N

X{ XH -
S =

£

SXE M
SR M 245
P NEAE UsF=d

(o
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
OF SeAtal2el RS (Al 22l tHa
X 2dl) 7,500,000& 7,500
2 3,750
AlBI 1,875
-l 1,875
MNASE 0IMERX OtA3 B 1,012,740 0 1,012,740
2 506,370
AlBI 253,185
-l 253,185
301 gEtE N = 1,012,740 0 1,012,740
2 506,370
AlH] 253,185
-l 253,185
01 AHBIEZ X +dl= 1,012,740 0 1,012,740
OMASE DM 023 23
1,012,740,000& 1,012,740
= 506,370
AlBI 253,185
-l 253,185
Ots=X g 21,251,381 21,028,709 222,672
=2 13,802,910
AlBI 6,172,830
-l 1,275,641
OISEs 21,251,381 21,028,709 222,672
= 13,802,910
AlHI 6,172,830
-l 1,275,641
FHANE OtsSES M~ X2 182,000 163,400 18,600
= 182,000
201 B2 109,000 85,400 23,600
= 109,000
1 At 22l 105,000 77,400 27,600
OLEZAEE Z23d ¥ 23 105,000,000& 105,000
= 105,000
02 S2=24Hl 4,000 8,000 A 4,000
Oo332= 4,000,000& 4,000
= 4,000
202 Ol 16,000 17,000 1,000
= 16,000
1 =UHo8I 16,000 17,000 A 1,000
OEHAERE ANIA=H 16,000,000 16,000
= 16,000
203 @2 =&l 2,000 2,000 0
= 2,000
03 Al =8 YR =& 2,000 2,000 0
OEZAEE 2= 2,000,000& 2,000

_6_




S2A: EXNAE MY
M OlS=X A
el OlEES (chel m )
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 2,000
301 et M= 3,000 7,000 A 4,000
= 3,000
09 HAIAHI X2 1,000 5,000 A 4,000
OXNJAS AN & AKX AL 1,000, 000& 1,000
= 1,000
12 JIEtE &2 2,000 2,000 0
OSLFEET T A SEIH7 B4 2,000,000& 2,000
= 2,000
307 QI2t0| ™ 52,000 52,000 0
= 52,000
11 AMIASXAEE X 52,000 52,000 0
O=zx8ladocz)dH 249 & 52,000,000& 52,000
= 52,000
OlSEX WA IHA A 220,634 223,120 N 2,486
= 104,872
Al H] 104,872
2| 10,890
101 21 214| 220,634 223,120 N 2,486
= 104,872
Al HI 104,872
2| 10,890
04 JIZtHIZ22XNSE S 220,634 223,120 N 2,486
OO0ts=S Xl W AF o1 H| 209,744 ,000& 209,744
= 104,872
Al H] 104,872
OY & FIHY| 300,000& 129 *23| 7,200
O%EE SNEQE 300,000& «12H 3,600
OHdEN & X 30,000& *3H 90
Ho . dstE Ols 24X 1,051,697 1,051,697 0
Al H] 788,773
Tl 262,924
301 et M= 1,051,697 1,051,697 0
Al H] 788,773
Tl 262,924
01 MBI BEEAESG2 1,051,697 1,051,697 0
OBY - %35 01534 X &
1,051,697,000& 1,051,697
Al HI 788,773
Tl 262,924
£ ZEY ols2AXY 285,986 285,986 0
Al H] 285,986
301 et M= 285,986 285,986 0
Al H] 285,986
01 M BEEEXG2 285,986 285,986 0




SM: =2XNEHY
=RV (-

ool olsEs (G EE)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OE - Z28Y2 ols24 JI& 285,986, 000& 285,986
Al HI 285,986
I8 AE OIS g2 K& 106,200 153,000 N 46,800
Al HI 106,200
301 deEtE X = 106,200 153,000 N 46,800
Al H] 106,200
01 M3 EXEE %62 106,200 153,000 N 46,800
OJE/Els s X 106,200, 000& 106,200
Al H] 106,200
IIEAEOIs & Hets=E32 N 24,500 24,500 0
Al Hl 24,500
301 dEtE X = 24,500 24,500 0
Al HI 24,500
01 MIIEEE 252 24,500 24,500 0
OJ8fE0s s Udstss2 NA
24,500, 000& 24,500
Al H] 24,500
IIEAEOIS & NEFEHZ XA 90,000 90,000 0
Al Hl 90,000
301 dEtE X = 90,000 90,000 0
Al HI 90,000
01 Ml EXEE 452 90,000 90,000 0
OJNHSISOIE S HEFHS X2
90,000,000 90,000
Al HI 90,000
BSE20s Mg & 136,800 0 136,800
= 109,440
Al HI 27,360
301 deEtE X = 136,800 0 136,800
= 109,440
Al H] 27,360
01 M EXEE G2 136,800 0 136,800
OBSE=0ts ANEx=E K& 136,800, 000& 136,800
= 109,440
Al H] 27,360
A2, JIERE Ots &eX=zHl A& 3,000 3,000 0
= 2,100
Al H] 900
301 dEtE ™M= 3,000 3,000 0
= 2,100
AlH] 900
01 M BEEE2G2 3,000 3,000 0
Oy - IIE/AE Oots AelXlzH X3
3,000,000& 3,000
= 2,100




SM: =2XNEHY
=RV (-

& otsES (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

| Al'H] 900

AAOISIHEXN (LY 0ts =2 XH) 111,300 126,000 A 14,700
= 77,910
AlHI 33,390

301 LEHZ 111,300 126,000 A 14,700
2 77,910
AlHI 33,390

01 MI2EZE 6= 111,300 126,000 A 14,700
ogyots sds+4 X 111,300, 000& 111,300
= 77,910
Al 33,390

AAOISIHEN A (LY =I|2t LRRE=2 X&) 2,100 2,100 0
2 1,470
AlH 630

301 LEEAZ 2,100 2,100 0
= 1,470
AlHI 630

01 M3IBZE 063 2,100 2,100 0
Ogd=edi2t 2RAFS XF 2,100,000 2,100
= 1,470
Al 630

LYAOISIHEXNE (L 2HE X) 8,100 8,100 0
= 5,670
Al 2,430

301 LeHEBAF 8,100 8,100 0
= 5,670
Al 2,430

01 Ml28E 6= 8,100 8,100 0
ogddlE & 8,100,000& 8,100
= 5,670
AlHI 2,430

QL=ol=s N& 4,000 4,000 0
AlHI 4,000

301 LEHZ 4,000 4,000 0
AlHI 4,000

01 MEIE2EZE+06l= 4,000 4,000 0
Oge=dtza XA 4,000,000& 4,000
Al 4,000

ots2Y XA (IEMNIESHE) X 216,411 216,411 0
= 151,488
Al 64,923

301 LPEAZ 216,411 216,411 0
= 151,488
AlHI 64,923

01 MEIBEE 2053 216,411 216,411 0




2N

X{ XH -
S =

g otseE s (9%_@%)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OOS22 NEAHN(LENAST) e
216,411,000 216,411
2 151,488
Al H] 64,923
olss+% XI& 15,157,215 15,157,215 0
= 12,125,959
Al H] 2,121,879
T 909,377
301 et X = 15,157,215 15,157,215 0
= 12,125,959
Al H] 2,121,879
Tyl 909,377
01 Al E & A 462 15,157,215 15,157,215 0
Ooolss+4% XN& 15,157,215,000 15,157,215
=2 12,125,959
Al HI 2,121,879
24| 909,377
OlE4xE AIY 29 4,091 4,091 0
= 2,864
Al HI 1,227
201 et Y| 4,091 4,091 0
= 2,864
Al H] 1,227
01 AP 22| d| 4,091 4,091 0
O0ls4+% A 29d| X 4,091,000 4,091
= 2,864
Al H] 1,227
OFSYSAIE (0HOHR) A4 X2 181,667 181,667 0
= 163,500
AlH] 18,167
301 et M= 181,667 181,667 0]
= 163,500
AlH] 18,167
01 Al E& A 252 181,667 181,667 0
QOIS U S AL (0HOIY ) MAHH XA
181,667,000 181,667
= 163,500
Al H] 18,167
OlSASFAIE(HOIY) 24 & 1,393,063 1,389,663 3,400
Al HI 1,393,063
307 QI2t0| ™ 1,393,063 1,389,663 3,400
Al Hl 1,393,063
10 Al SEXNANEEHESIGH EX 1,393,063 1,389,663 3,400
QS AS AL (HOIY) 2¥Hl XA
1,393,063, 000& 1,393,063
AlH] 1,393,063




2N

EPARSE )

M OlS=X A
el OlEES (chel m )
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OISUFAIL(HOIY) AFEEH X 46,900 46,900 0
Al H] 46,900
301 et ™M= 46,900 46,900 0
AlH] 46,900
01 MIIBEEE2G2 46,900 46,900 0
OOSASFAIE(H0tY) A=A XS
46,900, 000& 46,900
Al H] 46,900
OlSUSAIE(0HOIY) ot L SHINM X 2,965 2,965 0
Al H] 2,965
307 212t0| & 2,965 2,965 0
AlH] 2,965
10 Al SXAIEEHE2IHIEX 2,965 2,965 0
OOISASAIEZ(0H0IY ) ot 2| & SHIPH
Hl XI& 2,965,000& 2,965
Al H] 2,965
RES0ls ZSMEIIH(ol=ll) =29 82,443 82,335 108
= 32,977
Al Hl 49,466
307 212t0| & 82,443 82,335 108
= 32,977
Al HI 49,466
10 AIRIEXAIEEHAE2IGHIEX 82,443 82,335 108
O2sHdMa)id(ot=M) 494, o12Hd XN
82,443 ,000& 82,443
= 32,977
Al H] 49,466
LESOE ZSMEIIH(otsl) S X (SHOH Il ol 25,000 22,660 2,340
Ols MY 2SMHEIIY 29X14)
Al H] 25,000
307 QI2t0| & 25,000 22,660 2,340
Al H] 25,000
10 Al SXAIEEE2IHIEX 25,000 22,660 2,340
SSMEIIY(ot=) sUTloiols e 3
SMEJIYE SIS (MSAF Q1 HH])
25,000, 000& 25,000
AlH] 25,000
LESOE Z2SMEIIH(otsll) 2l (BSsHE 7,200 16,800 A 9,600
M SAN 2X2Y )
Al H] 7,200
307 QI2t0| & 7,200 16,800 A9,600
Al H] 7,200
10 Al SXAIEEE2IHIEX 7,200 16,800 A 9,600
SSMEIIE(ot=) SAX =X+ X3
7,200,000& 7,200
Al H] 7,200




SM: =2XNEHY
=RV (-

e OlsEs (2 &HH)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
RESOIES ZSMEIIE(olsill) 2l (24 400 0 400

IS EAK EXZQE XH)
Al Hl 400
307 212t0| & 400 0 400
Al HI 400
10 AR SEXAIEEE2IHIBX 400 0 400
OSsMEIIH(ot=) SAX EXEE X
& 400, 000& 400
Al HI 400
RESOIES ZSMEIIE(olslll) 2 (24 900 0 900
JbA ot 2eldl X))
Al H] 900
307 212t0| & 900 0 900
AlH] 900
10 Al SXAIEEE2IHIEX 900 0 900
OZ2=SMEIIH(otsM) ot 22l X
900,000& 900
Al H] 900
RESOIS ZSMEIIE(ol=slll) 2IA(2sH4e 7,640 7,640 0
I BS0ts XH)
Al H] 7,640
307 QI2t01 ™ 7,640 7,640 0
Al H] 7,640
11 A SAAEE X 7,640 7,640 0
O2sME)IIH(otsM) Ez0ts X&
7,640,000 7,640
Al H] 7,640
StHIloiolE & (22) 29 172,945 166,710 6,235
= 69,178
Al H] 103,767
307 QI2t0| ™ 172,945 166,710 6,235
= 69,178
Al H] 103,767
10 Al SXAIEEE2IHIEX 172,945 166,710 6,235
OSIHIIGHOIS HE (LTL) 2, Ml
olAdl XI& 172,945 ,000& 172,945
= 69,178
Al HI 103,767
StHOloiolsSaEH(Y2sY) 29X (AlH]) 15,893 0 15,893
Al H] 15,893
307 QI2t0| & 15,893 0 15,893
Al H] 15,893
10 Al SXAIEEE2IHIEX 9,563 0 9,563
Ostiiulioiols e (2s3Y) SAIL X2
X & 9,063,000& 9,063
Al H] 9,063




SM: =2XNEHY
=RV (-

Sel: ols2s (ol e

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

O HIINOIE B (SSE) BAA SAZ0

E x& 500,000 500
At 500
11 MBI = XA B X 6,330 0 6,330
OStHIGHOIE SE(LBY) OtS AXS S Al
ol X 6,330,000 6,330
Al Bl 6,330
XGOS HE 2K 2 1,086,200 1,036,200 0
= 518,100
At 518,100
307 21240 & 1,086,200 1,036,200 0
= 518,100
At 518,100
10 SIS XA LB 2SI 25 1,036,200 1,036,200 0
ONHOISME 2% X 1,036,200,000! 1,036,200
= 518,100
Al 518,100
S4SHE NAOSHE X 58,464 58,464 0
= 29,232
Al 29,232
307 21240 & 58,464 58,464 0
= 29,232
Al Bl 29,232
10 SIS XA LEES A 25X 58,464 58,464 0
S4+2XE NAOISHE X 58,464,000 58,464
= 29,232
At 29,232
XGOS HE AKX HLMS K 110,400 79,420 30,980
At 87,000
2l 23,400
307 21240 110,400 79,420 30,980
At 87,000
2l 23,400
NN TEES 87,000 66,100 20,900
OXNHOISHMEZAX H2MH X
83,100,000 83,100
At 83,100
ONHOISME ZAX SXNEAE X 2
3,900,000 3,900
At 3,900
11 MBS XA E X 23,400 13,320 10,080
OXNHOISME ZAX SX 4 23,400,0008 23,400
OF2t Mg XHOISHE X 7,800 7,800 0
Al b 7,800
307 21240 & 7,800 7,800 0
Al t] 7,800




SM: =2XNEHY
=RV (-

ol OtsE s (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 7,800 7,800 0
OOt EXdotsdH K& 7,800,000& 7,800
Al 7,800
ANEotsdH 21830 gz N2 16,080 0 16,080
2 8,040
Al 8,040
201 Let2d] 16,080 0 16,080
2 8,040
Al 8,040
01 At 22l I 16,080 0 16,080
OXSOISHE BIIHFI AUE N
16,080, 000& 16,080
2 8,040
Al 8,040
ANEotsde T2 XA 31,000 31,000 0
AlHI 31,000
307 glz2+ol & 31,000 31,000 0
AlHI 31,000
10 ALSISXAIEEE2EHEX 31,000 31,000 0
OXNYotsHEy Z20d8d XI& 31,000,000 31,000
Al 31,000
SRS otsdH K& 39,656 39,656 0
= 19,828
Al 19,828
307 21201 A 39,656 39,656 0
= 19,828
Al 19,828
10 ALSISXAIEEER2IHEX 39,656 39,656 0
Of=X490tsdH XA 39,656,000 39,656
= 19,828
AlHI 19,828
ANE0tsdy S3Hd X3 110,000 110,000 0
= 55,000
AlHI 27,500
T Hl 27,500
307 glz2tol & 110,000 110,000 0
= 55,000
AlHI 27,500
T Hl 27,500
10 AL SXAIEEHE 2 H EX 110,000 110,000 0
OXgotsdH &3t X
110,000, 000& 110,000
= 55,000
AlHI 27,500
L Hl 27,500
ERE NYotsdH =0t X& 25,536 25,536 0




2N SXEHD
HE: OlS=X B4
@2 OIsE s (SHe &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 12,768
AlHI 12,768
307 glz2tol & 25,536 25,536 0
= 12,768
AlHI 12,768
10 ALl SXAIEEE 2 H EX 25,536 25,536 0
OXgotsdH EQ2F FIF N
25,536,000 25,536
= 12,768
AlHI 12,768
ANE0tsdy detghd XI& 5,104 0 5,104
AlHI 5,104
307 glz2tol & 5,104 0 5,104
AlHI 5,104
10 AL SXAIEEE2EH EX 5,104 0 5,104
OXYotsdE b2yl XA 5,104,000& 5,104
Al HI 5,104
ANEotsdH AXHE 22H X 5,607 14,265 A 8,658
Al HI 5,607
307 21201 A 5,607 14,265 A 8,658
AlHI 5,607
10 ALSISXAIEEE2EHEX 5,607 14,265 A 8,658
OE&HdIIHE 22| 5,607,000 5,607
AlHI 5,607
CHEEH =& AP (& XIHl) 138,394 67,000 71,394
= 88,394
Al 50,000
402 RI2HXt20l 138,394 0 138,394
= 88,394
Al HI 50,000
03 212t &AL S HI 138,394 0 138,394
OUEMN == A&l 138,394,000& 138,394
= 88,394
AlHI 50,000
CIEIH == At (Qld & 22Hl) 105,540 110,246 N4,706
= 42,120
AlHI 42,420
T Hl 21,000
307 g1zl & 105,540 110,246 N4,706
= 42,120
AlHI 42,420
T Hl 21,000
05 RIZHRI &t 3 105,540 110,246 N4,706
OUEMN &= elddl XA 78,840,000 78,840
= 39,420
Al HI 39,420




SM: =2XNEHY
=RV (-

ol OtsE s (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OUEN =5 SAMX EXNEAE X
300,000& 300
AlHI 300
OoteN s =gl X2 (XA)
21,000,000& 21,000
OCUEN =3 29 NA(E=x) 5,400,000& 5,400
= 2,700
Al 2,700
Ots=XAY 293 2,550 2,550 0
201 L2l 2,550 2,550 0
01 At 22l 2,550 2,550 0
O0ts - 3424d 223 S 2,550,000 2,550
e 0l=s0leH & OtsEAEAIE 2e] 3,000 3,000 0
401 AIEHI L 2 CHYI 3,000 3,000 0
01 A& HI 3,000 3,000 0
ONE0l=0lH & otsEAEAIE 22|
3,000,000& 3,000
OtsZESEA =4 15,000 5,000 10,000
201 Let2d] 13,000 5,000 8,000
01 At 22l 4,000 0 4,000
Oo0tsZlstE Al 24| 2,000,000 2,000
Oots2sl 24l 2,000,000& 2,000
02 2324l 5,000 5,000 0
OO0ts&at=Al NEEHFEE2S HalH
5,000,000& 5,000
03 &AL2 I 4,000 0 4,000
OFad ZX O0ICIH BAME 4,000,000& 4,000
301 EtEH = 2,000 0 2,000
09 SAEHIX A S 2,000 0 2,000
Oots2lsl 2F XS AR At 600,000 600
Oots2sl EFHA AlHl S 1,400,000 1,400
AU ¥ ES 1,066, 186 978,456 87,730
= 365,117
J| 6,300
Al 307,273
I 387,496
dAadE XS 1,066, 186 978,456 87,730
= 365,117
J| 6,300
Al 307,273
I 387,496
FA2ENSEOE 29 20,500 20,500 0
= 8,200




SM: =2XNEHY
MY HAUNY U 25

=

Ce: d3ad 2Xz& (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al'HI 6,150
24l 6,150
201 LBt 9| 300 300 0
2 120
Al H] 90
T 90
01 AP 22| d| 300 300 0
OFA4E Hsditd =29 300,000& 300
= 120
Al HI 90
Tyl 90
307 QI2t0| & 20,200 20,200 0
= 8,080
Al HI 6,060
24| 6,060
11 A EXAIEEX 20,200 20,200 0
OFAYE H=2d0t"ed 29 X 20,200,000 20,200
= 8,080
Al HI 6,060
24l 6,060
HAYE =0tel XN 23,870 23,870 0
= 9,550
Al HI 7,160
I 7,160
307 2iz2to| A 23,870 23,870 0
= 9,550
Al HI 7,160
I 7,160
11T A EXAIEEX 23,870 23,870 0
OFA4dE sotel X 23,870,000 23,870
= 9,550
Al HI 7,160
Tl 7,160
HAalE Bs 12,955 11,276 1,679
201 2et2 Y| 9,853 8,334 1,519
01 AP 2t 2] H| 9,853 8,334 1,519
O4dyE 8ol solE M H & 7002 x4, 700 *90% 2,961
ORYEAAYE TR H& 20 x14,500 290
OFAEE &3 5,400,000 5,400
OFAYE A& EBES 150 x1,8000H *90% 243
OFAENECRE |FE HNE 900,000& 900
OW&E 2 0CRL XA A= 59,000 59
202 04| 432 432 0
01 2L HI 432 432 0




SM: =2XNEHY
MY HAUNY U 25

=

ol H3ad SXNSA (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
SEPEr EEIEELE]
20,0003 *23| x12& *90% 432
203 PR =&l 990 990 0
03 Al =X A2 =X 990 990 0
OFAY LRET 450,0002 450
O&adEJ2 A4 2te3 20,0003 30 *90% 540
301 LBEAZ 1,680 1,520 160
12 JIEtE &= 1,680 400 1,280
OFAE Solgds &0 24 100,000 43| 400
OFAY NE/AH Rolgs st 24
8,000& x160H x1 1,280
Mot HAYE 239 & 23 197,928 173,098 24,830
307 glz2+ol & 182,928 173,098 9,830
05 RIZHRI & 3 182,928 173,098 9,830
OA4d 22l & 29 182,928,000 182,928
402 RI2HR20l ™ 15,000 0 15,000
03 212t &AL S HI 15,000 0 15,000
OAMotEAE RS9 E JIsEH
15,000, 000& 15,000
FAa4@ dus ot3tdi0l 29 160,702 151,532 9,170
= 80,351
AlHI 80,351
307 glz2+ol & 160,702 151,532 9,170
= 80,351
AlHI 80,351
05 RIZIRI & 3 160,702 151,532 9,170
OFag gu=ot3tdol 2¢ 160,702,000& 160,702
= 80,351
Al 80,351
HAEX S AL B XX & 22,320 22,320 0
= 11,160
Al 11,160
307 21201 A 22,320 22,320 0
= 11,160
Al HI 11,160
05 QI &t 3 22,320 22,320 0
OFALEX T A BIEXIXI& 22,320,000& 22,320
= 11,160
AlHI 11,160
HAGOMY RH(HAEMGEREH) 94,700 93,720 980
= 47,350
AlHI 23,675
T Hl 23,675




SM: =2XNEHY
MY HAUNY U 25

=

ol H3ad SXNSA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 94,700 93,720 980
= 47,350
AlHI 23,675
- Hl 23,675
05 RIZIRI & 3 94,700 93,720 980
OFAHONY 2 (FAUNESTME)
94,700,000 94,700
2 47,350
AlHI 23,675
T Hl 23,675
HAHONMY XYaAGAL(BAHALSSTHH) 141,512 141,512 0
AlHI 70,756
- Hl 70,756
307 gl2tol & 141,512 141,512 0
AlH 70,756
- Hl 70,756
05 RIZHRIE 3 141,512 141,512 0
OFAHHAEY XA ALY 141,512,000& 141,512
Al HI 70,756
I 70,756
s g HAE NI (HaEAG=XEH) 122,830 82,060 40,770
2 85,981
AlHI 36,849
307 glz2+ol & 122,830 82,060 40,770
= 85,981
AlHI 36,849
05 RIZt2E = 122,830 82,060 40,770
Osgtw & d#4d X& 122,830, 000& 122,830
2 85,981
AlH 36,849
Hid HORs 2N (F284g=X46H) 2,800 2,800 0
2 1,400
-l 1,400
307 21201 A 2,800 2,800 0
= 1,400
I 1,400
05 BIZERIE 3 2,800 2,800 0
OFAEENRAE 2 X&A 2,800,000& 2,800
= 1,400
L Hl 1,400
HAESUT A (HAHaEg=R4E) 128,269 131,988 A3,719
= 64,135
AlHI 32,067
T Hl 32,067
307 120l & 128,269 131,988 A3,719
= 64,135




2N
X ZH -
L= B

el

=X & D
HAUXE L 25

EPNERE D E=F

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 32,067
L Hl 32,067
05 RIZtE = 128,269 131,988 A3,719
OFAESER ALY 128,269, 000& 128,269
= 64,135
Al 32,067
- Hl 32,067
HAESBII ALY (AIHIFDL) 14,820 0 14,820
Al 7,410
I 7,410
307 21201 A 14,820 0 14,820
Al 7,410
I 7,410
05 RIZtelEt = 14,820 0 14,820
OFLESEIIE AP (AIHIEDE) 14,820,000 14,820
AlHI 7,410
L Hl 7,410
Fad SEXE 9,000 9,000 0
Jl 6,300
AlHI 2,700
301 LEHZ 8,760 8,760 0
J| 6,300
AlHI 2,460
01 MEI2EZE+6l= 8,760 8,760 0
OSEXNdUY Ead & 8,760,000& 8,760
J| 6,300
Al 2,460
307 21201 A 240 240 0
AlH 240
11T MISAASEX 240 240 0
OSEXNdUa daE o4 SANHH XA
240,000& 240
Al 240
EAEHAL XA 111,980 111,980 0
= 55,990
AlHI 27,995
L Hl 27,995
301 LEPENF 111,980 111,980 0
= 55,990
AlHI 27,995
L Hl 27,995
01 MEIBEE 263 111,980 111,980 0
OFAEAZXNE ALY 111,980, 000& 111,980
= 55,990
AlHI 27,995
T Hl 27,995

_20_




2N

EPARSE )

M BAUNR Y 25
oelr HAd =2XEX EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FAaE AL 2EAF 2SN 2,000 0 2,000
= 1,000
AlHI 1,000
307 gl2tol & 2,000 0 2,000
= 1,000
Al 1,000
05 BIZHRI & 3 2,000 0 2,000
OFAYE AL 2Z2A3 2EXNE
2,000,000& 2,000
= 1,000
AlHI 1,000
HY2HIH (SANE2) 505,252 389,915 115,337
= 239,374
Al 51,777
T Hl 214,101
ol 2d | 403,831 366, 183 37,648
= 239,374
Al 51,777
T Hl 112,680
SeHArd &2l Ab el A4l K& 187,639 188,807 A 1,168
= 79,194
Al 39,597
-l 68,848
101 @124l 187,639 188,807 A 1,168
= 79,194
Al 39,597
Tl 68,848
03 RIHAZ 2N E =+ 187,639 188,807 A 1,168
OSE At 22l At 2I2AHI S 187,639
JEZ AAALY, ENNYS S
32,046,200& x5H 160,231
= 79,194
AlHI 39,597
L Hl 41,440
- Scl= 4| 27,408
- HEF O 2,144 3603 x40%*23] x5H 8,578
-dMANHS 845,310& x5H 4,227
- A GAH| 130,000& =128 »5H 7,800
- s 40,0003 x 123 x5 2,400
-ARESRIIFE 88,0603 x 10«5 4,403
Ots S Atall &2l A el XI& 181,009 150,500 30,509
= 148,000
- Hl 33,009
101 1A dl 181,009 150,500 30,509
= 148,000
-l 33,009




SN =NEH
B AR (SNEHDY)
chel: ol gyl CEEEED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
03 RIAHAZ 22+ 181,009 150,500 30,509
OO0tsSEAtel 22l AL 1 24Hl S 181,009
Jl2s, Al2edsg, EANEs S
30,720,000& 5% 163,600
= 148,000
2l 5,600
- Sol= 4| 27,409
- 3E SO 2,144,360& »40%*23] x5H 8,578
-HdBANS 845,310& x5 4,227
- MG A 130,000& =128 «5H 7,800
- EsE 40,0003 x12& x5 & 2,400
SRS E 88,070& x10& x5 4,404
OrS S X WAHK S ASI S XIAL) 1A4Hl K& 35,183 26,876 8,307
= 12,180
Al 12,180
T Hl 10,823
101 1Al 35,183 26,876 8,307
= 12,180
Al 12,180
T Hl 10,823
03 RIAHAZ 22+ 35,183 26,876 8,307
OO0tS=XIWAHKI S ALSI S XIAF) 124H] S 35,183
Jlgs, EdXgs S 29,700,000& 29,700
= 12,180
Al 12,180
T Hl 5,340
- Sel =4 5,483
- BE SO 2,144,360 «40%+*23] 1,716
-dMAENHS 845,310& 1 846
- dHZ A 130,000 «12& 1,560
-ESE 40,0003 =128 480
-ERERIMEE 88,0703 x10& 881
| =&l 101,421 23,732 77,689
Jl234 101,421 23,732 77,689
201 YEr2 Y| 16,941 17,132 A 191
01 AtR 22l | 16,941 17,132 2191
ORNE2E=EHl 8,352,000& 8,352
OJlzge==a8 Sl 7,949,000 7,949
OR£4 2EH| 640,000& 640
202 Oddl 77,280 0 77,280
01 = LH 4 Hi 77,280 0 77,280
OJlege=a80tl 77,280,000& 77,280
203 YR =&t 7,200 6,600 600
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<

n0

Kio

Hl w

600

H3r
Wikd
RIS

2,400

Off &t 24

3,000
3,000
4,200
4,200

&

3,000,000

KJ
KF
oF
<)l

OH
Al

4,200

|
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o

4,200,000




